(RIS 01 R)

| AlOIEE HGIS 25
| 25 =5

031)961-3408
cacli@chollian.net

244

E—fa}.snfﬂ AiH o] #HHI S

FrﬂﬂﬂM g9 gEzgol THA YA 2

”\]% Sl S=a

(’99 ~2000)

O QL E(FE, v 3HL)

YN BAANEE HE Lo,

3 % 743

L ovEks 747
A w0 02 fy |
| E%m [k 60om |
2 @ | EAEEER | QEEnEE | Epesekha
(60:30:10)! (60:30:10) | (D:D:D:10)
a2 g | AT 63.4 69.7 76.9
T RS 40 41 45
u g | S 30.5 374 414
T AEE 2.9 3.3 39

) g¥-=7]
O A AzE

A 9em O EE IR O N L FEFYEaEy

99, 3. 20~"90, 10. 16, 2000. 3. 20~2000. 10. 6(254 Al HT=])




O AFLEMH &2

A 1000 100
T [7lan[i169]
“? H -IL‘i-"x"‘"'ft‘]f:\'q M:IFE‘.}L.'_WE}O] ...L-!'.‘.'.t_-!,-L-Ib'i'-‘/‘ ‘]_'_—‘gE_'I_O]L_
= (50 : 50) (50 : 50) &:5:%)
7 _dlcm) 5.3 49 5.3
AEE@/F) 58 5.2 6.9
O g2ar @ 47 9em O FAFF 3 18(AFY] FF)
O FX=4 1 A7 2899 O 9Ty - Ad3F

O A ZIZE 2 99,3 20~'99. 10, 16, 2000 3 20~2000. 10, 16(28) A 2=

3. 71 B3}
hoAAN Y |
O YHEE(FES) | | (&9 3 9/100)
+ = sl T maq | a5 | A%

52 8] - 8H(60:30:10) | 68,296 | 490 | 33,465 | 28,813 4652 | 100
WEE - EBH60:30:10) | 72,444 | 500 136,222 128709 7513 | 162
FERREEEREAA020:30:10) | 72,0001 530 | 38,160 | 28,778 9,382 | 202

O d¥bgr(n]sL) e ae10m)
S = (Gl G EPU 9| a5 A

E e+ 2 u]+F8H60:30:10) | 73,259 310 | 22,710 | 21 406
T P P (60:30:10) 174,074 340 | 25,185 |21.302
‘?»HF I Bl A0 20:30:10) 73,259 | 350 125641 21,371

s L
B0 0O LD
¥.3]
[y FL NN
%
o




O A FLE(H &) | (&b : H21/10a)

=z | w7}
& = =5 (R

By
Ar
i

Agu| 2% | A%

¥ & A+ 4 (50:50) 71999 | 510 36,719 22,760 1 13,959 100
S ER L+ alo| E(5050) | 71,999 | 480 | 34,559 (22,7601 11,7991 85
SEEEANRERRE (5025:20) | 70,370 | 540 | 37,999 22,526 1154731 111

O MERIA fgF B3
- UWtEE ﬂ%}(ui H] 3H£)
- SRt - F D R+ 5 ]+ EH60:30:10) 8 Bty
| [ TFHA 7%, AAF 21% FF
Bl gk 0 B+ E 8+ E 9 (60:30:10) & E oy
A A 14%, A E36% 57
C NS L B 60:300RE tiY] g & 10%,
v 22 2079% &)
- ol F8-E A(u)a-L)
- S-SR - SERA-GNEE)-EE U] T2 79%, "‘gzﬂw 1696 <7}
CASRY L ER AN G050)EE ] 25 119%6 g
AFEE ojfon FEF AASA gx A4 £33 &%

4.8 2 |
O dHAJAB(EFE, NSS) BEANA 2+ H - F B(60:30:10)
SEWH %ol FPE 3 2ZFU7 Fed R F-Eu

- (40:20:30:10) EHEE MY
O uadg(she) TaAuA HE2 24 (E05004% x@%ol
gD 25F001%)7 7I5d ZIHE+Z A+ who] E(50:25:25)
TF4E MY \
AtgEe) A4 Huzh g} Jeme dH 4
AFTEES 24 olei e dag AF7] F1EF 7

>,

1.

= O .Xﬂ Wag

LA

OO

i



- FAzAN

ks | KNOy [Ca(NOgz4H,0MgS0s7H0 NI PO, | FeEDTA
2/1000¢ | 7835 796.5 369.8 1438 96
wlEels | HBO; [ MnClrdH0 |ZnSOs7HL0 |CuSOral B0 (NHM:
g/1000¢ | 15 1.98_ 115 019 | 098
5. %4 A5 BEAETHY Fol 4

O IR AN EE Ao BE v

£ JFEEAE 98

=1 e g 2 A A A FTE
(g/cn’} | (%) (%6) | (%) (%)
52 +=E2(50:50) 105 | 425 9.2 | 484 | 576
3+ B v +E 2 (60:30:10) 097 | 397 | 1677 | 437 | 604
Eﬂﬂ# S 40:20:30:10) 097 | 408 | 246 | 347 | 593
T B W] - 2 EHB0:30:10) 088 | 373 | 405 | 223 | 628
D& Rl SN TR 40:20:30: 10) 097 | 424 | 326 | 251 57.7
(2) AEA+E
(?]') "1}5
5. s T2 T3 HE g
‘ - {cm) (cm) (%)
RP+=8(50:50) 5.43 502 6.7
E ol +¥] H1 +3eH60:30:10) 5.93 5.31 7.8
PN RN 40:20:30: 10) 6.27 5.82 28
b8+ B 1]+ F2H(60:30:10) 5.95 5.63 2.2
R R R 40:20:30:10) 6.17 593 28
() vja=
T# A A AF &
&2 = (cm) (cm)} (9%)
TE+ER (50 50) 3.94 267 0
T+ 5 ] +F eH60:30:10) 4.43 3.12 1.1
SRS B 72K 40:20:30: 10) 4.99 3.42 1.1
HhZ + B 8]+ F 8H60:30:10) A75 3.36 0
R R e RN 40:20:30:10) 4.91 3.39 1.1




(3) AAlZF 2 HEF

(7}) El_s*.-»:,
& = A A2 (g/=) AEF(g/F)
o R e | A B A
5 2]+ 2 (50:50) 5374 1 162 155361 3.04 | 0.39 | 3.43
B+ 5 W) +-FE 8 (60:30:10) 6159 | 1.82 | 63411 353 | 051 | 4.04
Sfradsp-ik40:20:30:10) | 74.98 | 1.89 | 7687 | 3.97 | 056 | 4.53
i+ E 8] +E 1H60:30:10) 6799 | 1.67 | 6966 | 3.59 | 0.49 | 4.08
A5k 40:20:30:10) [ 7570 | 191 | 7761 | 391 | 053 | 4.4
(v}) v ahs
2 = AAE @S | AET(E/T)
A4n| myg | ﬂl A4 Bl | A
R+ 2 7-(50:50) 2016 | 1.60 2176 | 1.76 | 0.35 | 2.11
X 2+ 0] +FE 2 (60:30:10) 2810 | 2.35 | 3054 | 236 | 052 | 2.88
RO eI 40:20:30:10) | 37.88 | 354 | 4142 | 3.06 | 0.80 | 3.86
wh o+ 5] 5]+ EHB0:30:10) 3448 1 291 [3739| 272 | 057 | 329
u@+ Cal ENEENA0:20:30:10) | 36.24 | 3.02 | 3096 | 200 | 0.60 | 3.50
L-}. JFEE A
(1y ko] Bol4
& = AR A TSR
° ' (g/cm) | (%) (%) ) (%)
o & 5 A+ 2 A (50:50) 0.14 122 438 44.1 87.8
e A Ao [B(H05:05) | 0.15 17.7 39.1 43.3 224
=] a2 o] 15 (R050) 0.17 22.3 27.2 50.6 77.8
F.5138] B 2 A (50:50) 0.10 13.2 36.8 50.1 86.9
“EB’IJE@A}M EloE(GO2S25) | 012 135 43,1 43.4 86.5
3] =35 go] ¥ (50):50) 014 | 161 34.6 49.3 839
(2) Vg5 A&
e TEH A T3 AFE
3 = (cm) (cm) (%)
TESAeZAMEE) 7.11 5.34 28
TER Ao 1S(5():25:25) 7.40 5.48 6.1
I E 7 ~+8 30| E(50:50) 6.67 4.86 2.8
L5 E+ 2 A (50:50) 7.05 5.14 78
FIFH B+ FAL RO |E(R():25:25) 756 5.33 50
=9 E+H o] E(50:50)) 7.18 5.31 7.3




(3) ”]E]——‘l f\y_,g.ﬂ? ) }]%%

WA e/F) dA25(e/T)

= A% R [ A [AEe] %e | A
S B R A A (B(:E0) 113.86| 305 [11691| 528 | 051 @ 579
MER Lo E(50:05:25) | 126.38] 3.43 (12081] 552 | 053 | 6.05
W E R 2+ B o] E(50:50) 91.20, 350 | 94.70| 469 | 051 | 520
2 29 E+Z 4 (5050) 11261| 369 |{11630| 545 | 056 | 6.01
IR EOlER025:25) (13117 446 13563 6.20- | 0.66 | 6.86
F AT E+Bate] 1 (5)5H0) 11596 4.24 (12020] 566 | 059 | 625

2. M7 NET AEQ Ao
b dargE H
O A4« e
O #F=271 0 A4 9om
OFH ¥ =2E&Fgei=y
O A Z1ZE 199320~ 991016, 2000.3.20.~2000.10.16.(25] 7l 2]

L 1EEE A

O Avgd @ Feesd

O #2327 0 2% 9%m

O Hd3g  F 18487 77

O FAFFwd  A”TE

O A 7E2E  '99320.~'99.10.16, 2000.3.20.~2000.10.16.(2%] Al 337 5])

O FARA(FEL) @ NO-N 203ppm, NH;-N 17.5ppm, P 38.75ppm,
S 48ppm, K 302.25ppm, Ca 1'351)1)1'1"1, Mg 36.45ppm




